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1. Overall Description:
RAN2 discussed the LS and have made the following agreements with respects to the questions:
· For Q0, RAN2 confirms that Case#1 is not precluded. 
· For Q1, RAN2 confirms that Case#2 is not precluded. 
· For Q2, RAN2 confirms that Case#1-Rev is not precluded.
· For Q3-Q5,

 from RAN2 perspective, the text “all the configured number of preamble repetitions” in Case#2 can be interpreted as Interpretation 1-2 in the RAN1 LS.
	Interpretation 1-2: the time period is determined per feature combination. That is, one time period for feature msg1-repetition-r18 is determined based on n2 and n4. Another time period for the feature combination msg1-repetition-r18+redCap-r17 is determined based on only n8.


2. Actions:

To RAN1
ACTION: RAN2 would like to respectfully ask RAN1 to take above agreements into consideration.
3. Date of Next RAN WG2 Meetings
:
TSG-RAN WG2 Meeting #129



February 17 to 21, 2025

Athens, Greece
TSG-RAN WG2 Meeting #129-bis


April 07 to 11, 2025

China, CN
�I’m okay with not providing answers to Q3-Q5, but I’m wondering whether we need to explain why we are not providing answers for asked questions in Q3-Q5.


If needed, suggested to clarify the reasons in the answer, for example:


“For Q3-Q5, RAN2 has not reached consensus on the answers due to different understanding of RAN1’s intention on “configured” asked in the question Q3-Q5.


Given that Q3-Q5 are asked to RAN2 due to different interpretation of “all the configured number of preamble numbers” in Case#2, RAN2 would like to provide reasonable interpretation on Case#2 from RAN2 perspective


From RAN2 perspective, ….”


�I prefer not to indicate these sentences in the RAN1 because it is somehow contradictory with the agreement we have made: we didn’t reach consensus on what is “configured” in the question but we give our understanding on what is “configured”. My understanding of why we did not provide answer is mainly because the statement in the question is a bit problematic, e.g. “must select a feature……”. If we believe it is beneficial to indicate some backgrounds, maybe we can just internally sync up with RAN1 about what happened actually. 


�Typos fixed





